
Lights


(F) Fixed continuous


(FL) Flashing


(GP FL) Flashing groups


(V QK FL) Very quick flash


(Occ) Light longer than dark


(GP Occ) Group occulting


(Iso) phase equal light dark





Tidal assist: 3 knot paddling speed


Tidal assist�
Timesave�
�
0.5�
15%�
�
1�
25%�
�
1.5�
33%�
�
2�
40%�
�
2.5�
45%�
�
3�
50%�
�
3.5 to 4�
55%�
�
4.5 to 5�
60%�
�
5.5 to 6�
66%�
�
�
�
�






Tidal retard: 3 knot paddling speed


Tidal retard�
Time increase�
�
0.5�
20%�
�
1�
50%�
�
1.5�
100%�
�
2�
200%�
�
2.5�
500%�
�
3�
No movement�
�






Trip plan





Notify somebody of your plan (safety reasons)�
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Food + hot drink/water�
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Notify somebody of safe return�
�
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Night paddling PREPARATION!





Well dressed + fed


Crucial bearings ready


Method for checking all present


(1,2,3,4,5 etc.)


Group formation with lightsticks


Mark sectors of lights on map


Mark lights on map


One long blast means “gather”





Group





Experience?


Medical issues?


Kit?





Force+description�
Speed�
Description�
Waves�
�
�
knots�
�
metres�
�
0 �
0-1�
calm�
0�
�
1 smooth�
1-3�
light air�
0�
�
2 smooth�
4-6�
light breeze�
0.1/0.3�
�
3 slight�
7-10�
gentle breeze�
0.4/1�
�
4 slight�
11-16�
moderate breeze�
1/1.5�
�
5 rough�
17-21�
fresh breeze�
2/2.5�
�
6 rough�
22-27�
strong breeze�
3/4�
�
7 very rough�
28-33�
near gale�
4/5.5�
�
8 very rough�
34-40�
gale�
5/7.5�
�
9 very high�
41-47�
severe gale�
7/10�
�
10 very high�
48-55�
storm�
9/12.5�
�
11 very high�
56-63�
violent storm�
11/16�
�
12 phenomenal�
64+�
hurricane�
14+�
�






Quick reckoning


NM to minutes (if speed 3knots): times by ten then double it (so 2.3nm =23=46mins (followed by tidal assist/retard calc)


Wave height: F4=1m F5=2M F6=3M.


50/90 rule: flow 50/90/max/90/50.


Twelfths rule: height 123321.


Rule of thirds: speed 1/3 2/3 3/3 3/3 2/3 1/3


Knots to Beaufort: (knots/5)+1=BFT.


Beaufort to knots: (BFT-1)*5=knots








Wind retard (using Beaufort) 0=3knots, 1=3knots, 2=2.5knots, 3=2knots, 4=1.5knots, 5=0.5knots, 6= stay still
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